SAP ABAP table ICL NOLDOAU CL {Fields for Damaged Vehicle of Claimant}

ADRC

CLIENT [CLNT (3)]
ICL NOLDOAU CL-LOCATION = ADRC-ADDRNUMBER

R 0..N |ADDRNUMBER [CHAR (10)]

- DATE_FROM [DATS (8)]

-7 NATION [CHAR (1)]

-7 ICLNPROPMA

+" ICL_NOLDOAU_CL-PROPMAKE = ICLNPROPMA-PROPMAKE CLIENTICLNT (3)1
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)/ -7 ICLNPROPMO
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/ e ICL NOLDOAU CL-PROPMODEL = ICLNPROPMO- PROPMODEL -~ 0-N
_ - - PROPMAKE [CHAR (4)]

- PROPMODEL [CHAR (4)]

- T005

ICL_ NOLDOAU CL-PLATECOUNTRY = TOO5-LAND1 0N MANDT [CLNT (3)]
T " |LANDL [CHAR (3)]
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MANDT [CLNT (3)]
LANDI1 [CHAR (3)]
T T~ BLAND [CHAR (3)]
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ICL NOLDOAU CL-ECCURR = TCURC-WAERS 0..N | MANDT [CLNT (3)]
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